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Use the following data to answer questions 1-3: 
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Use the following data to answer questions 4-6
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Use the following data to answer questions 8-10. 
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8.)    Based on the data, which species is capable of reaching the greatest population density?
a. P. caudatum
b. P. bursaria
c. P. caudatum when in the presence of P. bursaria only
d. P. bursaria when in the presence of P. caudatum only.  

9.) Based on the data, what is the effect of culturing the two species together?
a. The population density of P. caudatum is reduced. 
b. The population density of P. bursaria is reduced. 
c. The population density of P. caudatum is increased. 
d. There is no effect. 

10.)  Which of the following statements about the rate of the increase in population density between days 0 and 5 is correct?
a. P. caudatum has a much greater rate of increase. 
b. P. bursaria has a much greater rate of increase. 
c. There is minimal difference in the rate of increase between P. caudatum and P. bursaria. 
d. It is impossible to compare the rate of increase on population density between the two species. 
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Answer key:
1.) A
2.) B
3.) A
4.) B
5.) B
6.) A
7.) C
8.) A
9.) D
10.) C
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Which of the following serve as the experimental controt for this experiment?

A. Treatments A and C
B. Treatment B

C.  Treatment C

D. There is no control.
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What was the rate of water loss in Treatment A?

A. 0.1 mL/mYminute
B. 0.2 mL/mYminute
C. 4 mL/m/minute
D. 5 mL/m’minue
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How much water did Treatment C lose in the time interval from 20 to 30 minutes?

A OmL/m’

B. l6mLm’
C. 20mLim’
D. 30 mL/im’
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In peas, the allele for yeliow seed color (¥) is dominant to the allele for green seed color (). A student
crossed plants that came from yellow sceds with plants that came from green seeds. He believed that the
yellow sceds were heterozygous. The observed results are reported in the following table.

Seed Color Observed Number of Seeds in F,
Yellow Seeds 62
Green Sceds 38

Calculate the chi-squared (y*) value for the null hypothesis that the yellow seed plants were heterozygous.
Express your answer to the nearest tenth.
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Most plants obtain energy for metabolism and growth from photosynthesis. Design a controlled experiment

to investigate the source of energy for germinating seeds when light is not available.

2. Propose a hypothesis for how energy is obtained by a germinating seed and provide an explanation.

b. Describe a controlled experiment to test your hypothesis. Include an identification of independent,
dependent, and control variables

¢. Describe the results you would expect to obtain if the experiment was performed.

d. Graph your expected results on the axes provided below.

e. Provide an alternate hypothesis, or another explanation that woutd explam the results you obtained.
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In a classroom investigation, students prepared a choice chamber consisting of a tube that allowed the introduc-
tion of chemicals at both ends. Four substances were mtroduced into the choice chamber, two at a time, in all
possible combinations: waler, mashed green banana, mashed ripe banana, and Alka-Seltzer with water. Wet
Alka-Seltzer releases CO,. Through a third opening, 40 fiuit flies were introduced and after 5 minutes their
behavior was observed. The number of flies moving toward chemical A at one end and chemical B at the other
end were recorded in the following table:

Cotten with Cotton with
Substance A Substance B

Choice Chamber

‘Substance in Comer B
Sinana | Bana | eS|
Substance forProfer|PreferfPrefer
in Corner A AL A
[Water
[Green Banana| 21 19 i
Ripe Banana 32( 8 [22]48
[Aka-Seltzer 28 [12] 12 |38 ] 19| 21
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According to the student data, to which substance are the {ruit flies most attracted?
ripe banana

green bananas

Alka-Selizer

water

soRy
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Using the data provided, which of the following best explains the attraction of fruit flies to Alka-Selizer?

A,

B.
C.
D.

The CO, released by wet Alka-Seltzer reveals active photosynthesis, signifying that the fruit cells are
alive and healthy.

The CO, released by wet Alka-Selizer simulates the CO, released from fermenting fruit.

The fruit flies are attracted to the white color of Alka-Seltzer.

Alka-Seltzer is an excellent medium for egg laying.
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‘What is the importance of matching cach substance with jtself, such as water with water?

A
B.
C.

Matching water with water can reveal the presence of an uncontrolled variable.

“The water ensures that each fly is fully hydrated before the investigation begins.

Matching water with water, as well as ‘matching each substance with itself, allows the fiies to become
familiar with the choices.

Matching water with water provides a test environment to determine if the flies can easily fly from one
end of the choice chamber to the other end.
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Fifteen plants were divided into three groups of five plants each. Each group was placed under the environmental
conditions listed below; all other conditions were identical. The amount of water loss per m’ of leaf surface was
then measured at 10-minute intervals, and the average for each group was plotted in the following graph.

Treatment A: high humidity, no wind
Treatment B: normal humidity, no wind
Treatment C: normal humidity, wind (from a fan)

Water Loss/Leaf Surface

Minutes




